/ SUSPENSION PARTS,

TEXIoror

2015

DEC

Wishbone

Axial Joint

Tie Rod End

Track Control Arm
Ball Joint
Stabiliser Link
Bush (Bushing)

www.teknorot.com info@teknorot.com



DECEMBER 2015 NEW ITEMS

(PTE( norRoT

VOLKSWAGEN TOUAREG ( 7LA,7L6,7L7 ) 2002-2010

P e =)

Tek ref Description OEM NO Notes
A-707 TRACK CONTROL ARM REAR 7L8501529A
2 PORSCHE CAYENNE ( 955) 2002-2010
Tek ref Description OEM NO Notes
A-707 TRACK CONTROL ARM REAR 7L8501529A
3 AUDI Q7 (4L) 2006-2010
Tek ref Description OEM NO Notes
A-707 TRACK CONTROL ARM REAR 7L8501529A
4 BMW 3-SERIES E36 -Z3 1990 - 1998
. [N
Tek ref Description OEM NO Notes
B-844 STRUT ARM REAR LOWER 33303411651
33326760675
33326770813
5 BMW 3-SERIES E46 1998-2005
Tek ref Description OEM NO Notes
B-844 STRUT ARM REAR LOWER 33303411651
33326760675

33326770813




DECEMBER 2015 NEW ITEMS

(PTE( norRoT

BMW Z4 (E85) 2003-2009

Tek ref Description OEM NO Notes
B-844 STRUT ARM REAR LOWER 33303411651
33326760675
33326770813
7 BMW X3 ( E83) 2004-2010
Tek ref Description OEM NO Notes
B-844 STRUT ARM REAR LOWER 33303411651
33326760675
33326770813
8 BMW 5-SERIES F-07 - F-10 - F-11 2010-
Tek ref Description OEM NO Notes
B-900 LINK STABILIZER REAR 37106775189 L=110mm / M12x1.5
9 BMW 6-SERIES F-12 - F-13 2011-
Tek ref Description OEM NO Notes
B-900 LINK STABILIZER REAR 37106775189 L=110mm / M12x1.5
10 BMW 7-SERIES F-01 - F-02 - F-03 - F-04 2008-
Tek ref Description OEM NO Notes
B-900 LINK STABILIZER REAR 37106775189 L=110mm / M12x1.5




DECEMBER 2015 NEW ITEMS Trecroror

" CHEVROLET EQUINOX 2004-2009
N )
- 3 b1
3 T - . .
e — r____ %
Tek ref Description OEM NO Notes
CH-226A LINK STABILIZER FRONT RH 15218267 L=295 mm/ M12x1,75
12 CHEVROLET EQUINOX 2004-2009
_ AN ‘ .
| — 6
:_ - i
] - . d
E—— N
Tek ref Description OEM NO Notes
CH-227A LINK STABILIZER FRONT LH 15218268 L=295 mm/ M12x1,75
13 CHEVROLET MALIBU 2008-2012

==p b o T

\
Tek ref Description OEM NO Notes
CH-320 LINK STABILIZER 22670300 L=298 mm/ M12x1,75
14 CHEVROLET TRAVERSE 2009 - 2015

Tek ref Description OEM NO Notes
CH-910 LINK STABILIZER FRONT 20905104 L=217
15 DODGE DURANGO 2011-2015

Tek ref Description OEM NO Notes
DO-120 TRACK KONTROL ARM REAR 52124840AB




DECEMBER 2015 NEW ITEMS &recoror
16 JEEP GRAND CHEROKEE 2011-2015
- Ay w -
‘"M""l = E g
Tek ref Description OEM NO Notes
DO-120 TRACK KONTROL ARM REAR 52124840AB
17 HONDA ODYSSEY 2011-
: J
=
Description OEM NO Notes
H-612 TIE ROD END 53010-TK8A01 M12x1,25
18 HONDA RIDGELINE 2006-2014
\ e ‘
Description OEM NO Notes
H-612 TIE ROD END 53010-TK8A01 M12x1,25
19 JEEP COMPASS 2007 - 2015
iy = l - '
- e
Tek ref Description OEM NO Notes
JE-314 SUSPENSION BALL JOINT 5105041AC  for wishbones 5105041A1/0105040Al
5105040AD
20 PATRIOT 2007 - 2015 2007 - 2015
- R
U - oy
Tek ref Description OEM NO Notes
JE-314 SUSPENSION BALL JOINT 5105041AC

5105040AD

for wishbones 5105041A1/0105040Al




DECEMBER 2015 NEW ITEMS

(FTE(HDRST'
2 DODGE CALIBER 2007 - 2015
Tek ref Description OEM NO Notes
JE-314 SUSPENSION BALL JOINT 5105041AC  for wishbones 5105041A1/0105040Al
5105040AD
2 LAND-ROVER RANGE ROVER SPORT  2005-2013
Tek ref Description OEM NO Notes
LA-147 LINK STABILIZER REAR RGD500140 L=132 mm
23 LAND ROVER RANGE ROVER IV (Vogue ) 2012-
Tek ref Description OEM NO Notes
LA-171 TIE ROD END LR033534 M14x1.5
4 LAND ROVER RANGE SPORT II 2013-
Tek ref Description OEM NO Notes
LA-171 TIE ROD END LR033534 M14x1.5
25 LEXUS RX350 2010-2015
- ;i::)
1' .‘s‘.'ll
Tek ref Description OEM NO Notes
LX-226 LINK STABILIZER REAR RH 48802-0E010 L=110mm / M12x1.25




DECEMBER 2015 NEW ITEMS Srewnaror
26 LEXUS RX350 2010-2015
-ty )
Tek ref Description OEM NO Notes
LX-227 LINK STABILIZER REAR LH 48803-0E010 L=110mm / M12x1.25
27 MERCEDES W164 2005-2011
Tek ref Description OEM NO Notes
M-837 TRACK CONTROL ARM REAR 1643501406
28 MAZDA CX-7 (ER) 2007-
Tek ref Description OEM NO Notes
MA-511 TIE ROD END RH EG21-32-280 M14x1.5
EG21-32-280A
EG21-32-280B
2 MAZDA CX-7 (ER) 2007-
Tek ref Description OEM NO Notes
MA-512 TIE ROD END LH EG21-32-290 M14x1.5
EG21-32-290A
EG21-32-290B
30 NISSAN QUEST 2004-2009
Tek ref Description OEM NO Notes

N-126

LINK STABILIZER REAR

56261-CK000

L=70/M10x1,25




DECEMBER 2015 NEW ITEMS &recoror
31 NISSAN QASHQAI 2014-
Tek ref Description OEM NO Notes
N-911 TIE ROD END RH D8520-4EAQA M10x1,25
32 NISSAN QASHQAI 2014-
&
Tek ref Description OEM NO Notes
N-912 TIE ROD END LH D8640-4EA0A M10x1,25
33 OPEL MOKKA 2012-
4“” - @J‘
Tek ref Description OEM NO Notes
0-432 TiE ROD END 1609206 M14x1.5 Hidrolik Type.
34 SUZUKI SWIFT (IV) 2010 -
gy
Tek ref Description OEM NO Notes
SZ-441 TIE ROD END RH 48810-68L00 M12x1,25
3 SUZUKI SWIFT (IV) 2010 -
w
Tek ref Description OEM NO Notes
SZ-442 TIE ROD END LH 48810-68L00 M12x1,25




DECEMBER 2015 NEW ITEMS drewnaror
36 TOYOTA SIENNA 2003-2010
‘.—J‘
a1
Tek ref Description OEM NO Notes
T-274 BALL JOINT 43330-09560 FOR ARMS T-278
37 TOYOTA SIENNA 2003-2010
Tek ref Description OEM NO Notes
T-275 BALL JOINT 43330-29215 FOR ARMS T-279
38 TOYOTA YARIS (P1) 1999 - 2005
(=
o ch => " - p
Tek ref Description OEM NO Notes
T-328 WISHBONE (WITH BALL JOINT) RH 48068-59055 BALL JOINT T-305
39 TOYOTA YARIS (P1) 1999 - 2005
(= ‘
Tek ref Description OEM NO Notes
T-329 WISHBONE (WITH BALL JOINT) LH 48068-59055 BALL JOINT T-305
40 VOLVO V40 2012-
%F
Tek ref Description OEM NO Notes
VO-701 TIE ROD END RH 31317819 M10x1.5




DECEMBER 2015 NEW ITEMS Trecroror

41 VOLVO V40 2012-

Tek ref Description OEM NO Notes
VO-702 TIE ROD END LH 31317781 M10x1.5




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

